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SM-BH-H2A(FAH) - MIRAY - BES AFoH ‘Oﬁ,‘\jg‘; Hns2
HE 6,619,683 7,489,559 869,876
25,000
50,300
6,544,383
S o S5 4,925,345 5,902,162 A976,817
25,000
50,300
4,850,045
DEMA HE L AFD S (F=XE) 234,639 213,626 21,013
= 25,000
Al 25,000
- 184,639
SUHMAIEE &AX.83H| 132,240 133,680 A 1,440
201 82| 240 180 60
02 2229l 240 180 60
QUEMNMANAEES(IFNIIEZ LED) HIIL=
20,000& x12& 240
401 AIEHIZL 20| 132,000 133,500 A 1,500
01 A& HI 132,000 133,500 A 1,500
OF - 8X 2XN4d =M S 3,000& *10,000m 30,000
O2L= NEANEE HUIBS(EAIE  EXE 2
2tES) 70,000,000& 70,000
OO0l XIS A 40,000& *800 m* 32,000
OIS oHM QA HE 5,900 4,900 1,000
201 82| 2,600 2,600 0
01 A2 22l bl 2,600 2,600 0
O"NSOHMOY"SA RHES 2,600
o0 80,000& +100H 800
o X I 3,000& *2Z*1000H 600
o=EHEZ2 3003 *4,0000H 1,200
203 g2 F=&| 3,000 2,000 1,000
03 Al F=AH R FAY| 3,000 2,000 1,000
OQuSHIAIHFX 3,000,000 3,000
301 et AZ 300 300 0
10 AR HIE A S 300 300 0
OWelol usSetdnal ZAIZ
50,000 *3H x23] 300
252 X Sl= Hel =4 46,049 54,596 AB,547
101 214 d| 42,129 48,996 6,867
4ot 22 EE 42,129 48,996 6,867
OXNHESHRA 40,641




2N DSHTD
E: EZDE OF =
Sl DEMH NS L ADY(FRE) (et & 2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0 & 24 0l ot o ClImEE
cQRA(RIFLLY )
53, 16021 %112 +602! 35,086
=R 7,000 112 %602 4,620
caes 35,0002 %1% 385
ousts 50,0002 %112 550
onges 2¢3 35,086,000+ 1. 4% 492
OUTHEE 223 35,086, 0002 +2.838% 996
201 Yer2 | 3,920 5,600 A1,680
01 AtR 22l 3,920 5,600 A1,680
Osg22x 2l 7,000 *12 %603 420
OETE=5 1,500,002 1,500
OERHEX 20021 %5, 0000H 1,000
CELL RSN 100,000% * 1004 1,000
DSAHY YOG 2 450 20,450 20,000
201 YEre gt 450 450 0
01 AtR2t2lt| 450 450 0
ONSUHHMOAARE EHASY 70,0008 5 350
Osys= 100,000%! 100
DEAD RS HEAE 50,000 0 50,000
z 25,000
Al 25,000
401 Al & B2 2 CH bl 50,000 0 50,000
z 25,000
Al 25,000
01 Al&H] 50,000 0 50,000
ORSAL ¥2 2 HUAY (R SLYNE
) 50,000, 0002 50,000
z 25,000
Al 25,000
= 3X BN SHY(FNER) 582,211 405,768 176,443
Al 19,000
2 563,211
FREE L AT 2S XN 310,634 281,468 29, 166
101 2121t 166,947 155, 176 1,771
04 JAR2ENS 24 166,947 155, 176 1,771
SESUSELES 131,545
R (RIFLLY HE) 115,465
JI2HH (2402) 22Xt
53, 1602 62 x2422 77,189
JI2EH (1202) 22Xt
53, 1602 62+ 1202 38,276
oZ g 2,600




LY SHME=}-P<In|
M HZSNS o& S8
el = HX BAM S (FXEH) (cte: &
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
JIZHA (240Y) 22Xt
7,000 6% *x202 « 102 8,400
JIZEA (120Y) 22X
7,000 x6 % x20 L 52 4,200
ott=E X = 3,480
E2x= 100,000 12 1,200
o= 50,000 12 600
= 140,000« 12 1,680
ol 82X 19,245
cQIRU(RIEULY TE) 19,245
JI2HH (240L) 22Xt
53,1602« 1% x242 12,865
J12+M(120Y) 22X
53,1602 x1Z 120 6,380
Oo=gd3 243 137,566,0002! *4. 5% 6,191
OAYEE 223 137,566,000 *2.82% 3,880
Ongss 243 137,566,000 *1.4% 1,926
OMIEE 2243 137,566,000 *2. 838% 3,905
OLQAIQUALE 2= 3,880,0002 *6.55% 255
201 L2 A 52,692 51,095 1,597
01 At 22l 32,482 32,882 A400
OFFX o 85 8,370
o WHEH B AEIHA 8,500 *6002 5,100
S 1 3,000 *300H 900
cARE 80,000 x 12 960
oFII HHEOHY Y 80,0002 *120H 960
oF NI IO U2+E 150,000 «3H 450
OFHX S22 MAuEE 9,222
cUIIERIR(ZH) 150,000 x20H 12 3,600
cUIINERIXN(EH) 150,000 *1JH «12& 1,800
of)|ChE ANNSEN HAEX
65,0002 «34F Kt » 128 2,340
oI ME QI5X 22,0002 «3H 128 792
cmalf EY 230,000 «3H 690
OFFX 45322 M= 1,450
oEx= 100,000 5% 500
o5t= 50,0002 x5 250
oss 140,000 x5 700
OOFFEXIES SHl 7,0002+8H *142L %128 9,408
OFLFIcs SHl 7,000 +8H*6U 128 4,032
=329l 20,210 18,213 1,997
OQUEXNTHEXY 2223 1,145
o XS XAl 62,0002 *2CH*13] 124
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S - HH . e CHEAY - EHAS Ak e 2
o X=Xt 350,000& »2CH 700
o Xt= xt 2= 60,0003 2CH*23] 240
= 0|EXt 81,000 +1CH 81
O0EX & 60,000 x1CH+ 122 720
OsEX & 9,000, 0002 *2CH 18,000
OCIXIE 3t 11,500, 000 *3% 345
204 R HA 14,400 14,400 0
03 EZYRH 14,400 14,400 0
ouegss 50,0003 »24FH « 12 14,400
301 et a3z 65,649 49,255 16,394
09 SU2RRIALL S 65,649 49,255 16,394
O=3xt thE8x 65,649
o= 88,0003 »16E 12 16,896
o SAlH| 5,000& x16H x22& 12 21,120
SENE==1:] 2,600 x16H x22 x12& 10,983
o OF2tEEZ A 7,000 x16H+BU 12 10,752
= Il 24| 263,480& «16H 4,216
oZU2RRA BAXEHI 1,000,000& 1,000
oZA2R2RE MHE2AZ 682
- AP 985,600 »36HH =12 *0.05% 213
O 985,600 » 1281 = 12 0. 33% 469
307 SI2H0| & 10,946 11,542 A 596
o7 H3X=3 10,946 11,542 A596
OTHOHE & 1,196, 745,000& *0.079% 946
OAMZZE2 10,000,000& 10,000
QIEXEE AlA 51,390 45,990 5,400
201 B2 FH| 51,390 42,390 9,000
01 ALR 22l H| 1,170 1,170 0
ORQl =% MEE 2 A
65,000 «1.5&k Xt« 128 1,170
02 E=2gHl 50,220 41,220 9,000
OANEEHI R 35,820
o RolttE o 9,000,000& 9,000
SPSh= =Jt et RX 24l
184,244,000 *8% 14,740
oFddY =IO el | K2 2=t
28,500,000 *8% 2,280
oCCTV 23 uX L 2t2/dl 1,000,000 *9H4 9,000
o f&I| 7l 10,000, 000 *8% 800
Ofelt= t 23L= 14,400
ocdIIRI 20,0003 +7CH*12& 1,680




SN DEHID
Y (ZNE O B
Celr - HX EA HY(ENE) LRI
SN B HABH) - NRAY - BES Ofl &F %iﬂgfﬁ HDE2
cQlHY 36 ASE(NSE)
220,008 *47H 2 +128 10,560
QY 3d ASE(+SE)
60,0003 *3)H A+ 12 2,160
FEXNUEE 2 - = 179,287 78,310 100,977
101 14| 46,575 16,216 30,359
04 JIZtH22HsE+ 46,575 16,216 30,359
OUEhE MY - 2RI L Mg B 46,575
R (RIFL+Y EE) 41,678
JI2bM (2422 ) 2 2 Xt
53, 1602 x22 x2422 25,730
- JI2HRI (1502 ) 2 = &t
53,1602 x2& «150& 15,948
oxUd=Rd=s 41,678,000 *4.5% 1,876
ocALRE 23 41,678,000 =2.82% 1,176
oMIEE RES 41,678,000& *2.838% 1,183
clIEEY RE= 41,678,000& *1.4% 584
oL QULE 2L3
1,176,000% *6.55% 78
201 dEt=2 S| 125,812 55,612 70,200
01 At 22l 29,812 13,612 16,200
OF - 8% DEH2 BISE 3,312
oM, =% 65,0003 «4&f Kt» 12 3,120
cYREE FAE 24Y
16,0003 »1& Xt+ 123 192
O=F - X Uths daES 4,300
oXgllH &Y 250,000 =104 2,500
omglf =¥ 800,0002 *17H 800
ocMMERS 1,000,000 1,000
O = Fx BEHE DXA 2& S|
700,0008! * 122 20,400
OYE S= - M +48
g =3 3,000 600& 1,800
02 2=l 96,000 42,000 54,000
OF - IUBHE 2 2RI
8,000,000& x12& 96,000
303 Zat= 6,900 6,482 418
01 Z&= 6,900 6,482 418
ONHHEE = FADEHE F+EAZ 6,900
oXLEE 1EX My F4
300,000, 000 *20%x 1%=*1/4 150
oXLEE 2ER ML e
400,000,000 *15%*3%*1/4 450




EA: NEHAI
Ha: HERS oW =g
S = A BN SHE(F=AE) (¢t &
S HH O (BH) - HIRAY - BAS Of) & 04 dE = SmE=L
0fl &t 01
SXLHET 3EX MY &
8,400,000, 0002 *6%*5%+*1/4 6,300
ANsitz2te JEHE MyXgeg Hsot A1) 40,900 0 40,900
Al 19,000
- 21,900
201 dEtE A H| 2,840 0 2,840
02 23224l 2,840 0 2,840
OHSTHAIIANAE 29 2 SAEL
2,000,000& 2,000
OADIEE A EEZ= 35,000& 20 = 12& 840
405 KHAHFE S| 38,060 0 38,060
Al 19,000
- 19,060
01 MY Z22EFHSHI 38,060 0 38,060
OHSTHAIAIAE A= 38,060
oHSOIAZ It 2t 2,750,000& *2CH 5,500
Al 2,750
- 2,750
oHSOIAZE =X 2,200,000& *2CH 4,400
Al 2,200
= 2,200
o XIRHETHE HO01DI (HI01ZPC )
3,300,000 * 14! 3,300
Al 1,650
- 1,650
o XHAEIXI(IR LED, 2HES S)
2,200,000 =14 2,200
Al 1,100
- 1,100
oXHMIAB=E MJAEX 1,320,000 14 1,320
Al 660
. 660
o2 HMIRIE I (401 X]) 1,320,000& x 14! 1,320
Al 660
- 660
o302 L HEXMOHHHER, AHOIE S)
1,320,000 14! 1,320
Al 660
- 660
oRHSQolAl D2 (FHE IISCAR)
5,500,000& * 14 5,500
Al 2,750
- 2,750
oY T NAM(ADNEEZ 2HSA A
A 6,600,000 * 14! 6,600
Al 3,300
- 3,300
oA&Xl L AIE2&H| 2,200,000 2,200
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SN DEHHDY
HE: (E50S O 22
SR FXE HE(ZREF) (B9 &)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol Ak O Blusz
01 ALR 2l 10,000 10,000 0
OBYENT SAgBel ZFYINL42
2,500, 0002 *42H £ 10,000
02 T2 4,036 4,036 0
OBSMHZAENE MIQTBLAX ASaca
83,0002 * 122 1,086
OB4, IEBYFIE LBAE FA22E
440,00021 274 830
OSFUBYEINE AYAM HAL22
550, 0002 * 174 2 550
OBYFXY YBSE 442 5,0002+102 50
OBYENT U& 248 150,00021 1024 1,500
401 Al 2B 2T 133,000 42,000 91,000
01 Al &bl 133,000 42,000 91,000
OBYERNE RN B4 120,000, 0002 120,000
OwQIFXY EXNBHIX L CCVRXIZS 10,000
cRXES 10,000,000%! 10,000
OZHFXE YR DA 30,0002 <107 2 3,000
ZANHEERA 22l 2,027 13,180 A1,153
201 L2 Y| 8,700 9,180 480
01 ALR eIt 7,180 8,380 21,200
OFXNHBALY B2ABE 7,180
cEZEHEX 40,0002 <102 400
cEZ2EY3 200,0002 374 600
cEZ2EIC 200,000 *27H 400
ozatmay U 1,800,000 *2KI € 3,600
ozetzay X 100, 00021 52 500
SENX FXHRD DA M
60,0002 %3¢ Xt 180
OFENX A MTRHES HE NN
3002 *5, 0000 1,500
02 ZZ2H| 1,520 800 720
OFXQ2 L& LRI 2508 %4002 +83] 800
OUEEA Fl FHNHEENE ®II23
60,0002 * 122 720
308 XX EHHI S OI & 3,327 4,000 A673
05 REXISHHI S 23 3,327 4,000 A673
OB EANZBAAY XS4 3,327,008 3,327
DRIETAS X 9,000 15,000 6,000
Al 6,300
2 2,700
402 Q12X+ 0/ 9,000 15,000 6,000
Al 6,300




SN DSHED
M ENS AN 2
Sl FXE HE(ZXEH) (oA
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 2,700
01 QIZtR= P X 9,000 15,000 A6,000
OJRI=RIAY X 3,000,0002 %37} 2 9,000
Al 6,300
7 2,700
HAFENE KA - 22 45,336 44,736 600
201 YEre | 45,336 44,736 600
01 AtR 22t 26,336 26,336 0
OHIIBY 448 1,903,000 * 122 22,836
OULZ LA S HAA 500,0002 500
Ogtstael MA442 250,0002! x 122 3,000
02 2B 19,000 18,400 600
OFMENE B2R3 6,000
o®IQ2 250,000 + 122 3,000
oAl DA M 2,000,0008! 2,000
oXIIAANE 1,000,000 1,000
OFAMELE RN B2t 13,000,000 13,000
GlHI= T2l 3,882, 169 4,911,392 ~1,029,223
801 of Hl 3,882, 169 4,911,392 ~1,029,223
01 Ciltl bl 3,882, 169 4,911,392 A 1,029,223
Ot bl 3,882, 169,000 3,882, 169
UY2YFH (RSHFD) 1,694,338 1,567,397 106,941
22 A (FXHE) 1,603,759 1,496,818 106,941
DNEHFY o=2YY| 1,454,245 1,355,329 98,916
101 21 24| 1,202,943 1,150,648 72,295
01 24 1,222,943 1,150,648 72,295
osz 785,347
o523 3,698,200 * 1% 122 *1.035 45,932
o632 3,047,300 *5% 122 *1.035 189,238
o732 2,423,20021 x7 122 *1.035 210,674
o83 1,659, 0008 ¥3% x 128 +1.035 61,815
ools73 2,568,8002 *2% 122 *1.035 63,809
oJls82 2,497,200 *5& * 122 %1035 155,077
o592 2,367,200 *2& 122 %1035 58,802
OF-F==4= 785,347, 0002 +1/12 65,446
Ozt 2esg 91,066
o523 10,4862 * 12 *30AI 2+ 122 *1.035 3,908
63 8,943 *4 2 x30A| 2+* 128 *1.035 13,329
b (FRHES)
8,943 x 12 *50A| 2H* 122 *1.035 5,554
o723 8,078 *62 x30Al 2+* 122 *1.035 18,060
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SN DEBF
I YELYAY (RSB
Etel: 2 (1Y) (et H)
A Y SR(3) - ARAY - BLS 0fl &t e HRS2
o7 (FREx)
8,078 1H«50Al 2t+ 12 +1.035 5,017
o8g 7,2523 3B «30A| 2tx 122 +1.035 8,107
eJls7Ta(FREH)
8,078& 2H «50Al 2tx 12 +1.035 10,033
oJ|s8a (FA =)
7,252 3B x50Al 2tx 12 1.035 13,511
oJls8a 7,2523x2B «30Al 2tx 123 +1.035 5,405
=) S8 (FR=)
6,555 x2H x50Al 2tx 123 +1.035 8,142
oz+g 83,549
oIltExg 18,240
- X 40,0003 «25& +0.78+12& 9,360
N E 20,0002 x25E 1,48+ 12F 8,880
oNtHSHHIE X +E 7,983
- USEY 433,880 x25F %0 16%4 2] 6,943
s5d 51,9903 #x25& 0. 20+42] 1,040
oFOtFA+H 1,000,000 1122 12,000
odI2+=glHt= 29,760
254 0l4 130,000& »7E «12& 10,920
2080l & 110,000& 9E x 12& 11,880
158014 80,000 x4H x12& 3,840
100l & 60,0003 «1& 122 720
55014 50,0003 «42H =128 2,400
cHRIBRE 785,347,000 +4.8%*1/3 12,566
oJlsgf+g 720
6=~72 30,000 x2H *12& 720
oJlsgFs=gltts 720
JLAL 30,000 «2EH =122 720
oNSA2N & JHER+E
40,0003 «2H »12E 960
cHRHAE 50,0003 «1& 122 600
Ogul . =JE A+ 80,000,000 80,000
O&HZAHI 130,000& 25 12& 39,000
OB &= 0thI 785,347,000 *1/12%120% 78,535
204 A P=H A 40,020 39,000 1,020
02 a2 &4 40,020 39,000 1,020
OXZ 22| 40,020
obg 250,000 x1E x123 3,000
Sdo= 155,000 x5F 12& 9,300
o7g 140,000 x9F 128 15,120
©=85~0= 105,000& 10E *12& 12,600
304 HA=SRFE=S 191,282 165,681 25,601
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== S
HY2HZH (RS )
oIt 2 ofH| (=X &) S Ee)
S EB ORI (B) - HRAIY - BAS Bl 2
Ol &k
01 H=RE3 155,791 132,037 23,754
OH3RE3 1,196,745,000& *7% 83,773
OEdZ3 1,196,745,000& *2.337% 27,968
OEI &Y 2RH3 1,196,745,000& +3.6808% 44,050
02 ZCIAAEE = 35,491 33,644 1,847
O=0HLEE 23 1,181,145,0003 *2.82% 33,309
OLEIRLEE R2E3
33,309, 000& *6.55% 2,182
FRAZE 23| 44,490 43,843 647
101 el d| 44,490 43,843 647
02 JIEt A E = 44,490 43,843 647
O=xt&ztel 233 F 43,903
o233 2,179,900 »1H «12& *1.035 27,075
cdIY 27,075,000& *1/12 2,257
oAt
7,4383 x 18 *40A| 2+ %122 x1.035 3,696
oItEY 960
- B Xt 40,0002 x1H«12& 480
22 - TY 20,0003 x2H x12& 480
ocXtHSHIE XY 1,944
Ssh 433,8803 14 x4 3| 1,736
Elge 51,9903 1 x43| 208
cHIFEINAZ 960
154801 & 80,0003 x1H+12& 960
o J Mg AlY| 130,000& x1E 12 1,560
o HEFIH| 27,493,000 *1/12%120% 2,750
o HIE AMH| 27,493,000 x11/360 841
SESE= 1SRN 105,000 *1Z 123 1,260
o2 &=l 50,000 x1H «12& 600
O1NERE 22 41,863,000 *1.4% 587
JIHAZZ A el 2AH| 105,024 97,646 7,378
101 eI24d| 105,024 97,646 7,378
03 RIAHAZZAE S 105,024 97,646 7,378
O=xt2e& 27,055
SPIR=t= 1,148,0403 x1H 123 13,777
oItEY 480
S 40,0003 x1E*12& 480
oJl|gdg 17,496, 4803 *1/12%120% 1,750
o J Mg AlY| 110,000& x1E + 12 1,320
S PN 60,0003 x1H~12& 720
SENE==J RN 140,000 x1H « 122 1,680
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M DEHHY
Y HH2YAH(NSS#HF )
Chel: oA HH|(FXHE) (ctel: &
S E O (EH) - MBAIY - B Of o e Hl R =2
o HEFIH| 17,496, 4803 +1/12%120% 1,750
S ETEEES
1,508, 0403 *1/226%150%*220 Al 2+ 2,203
cHIIRERTIIE
1,508,040 »1/226+8A| 2+ 18 961
o RIS AtHI 50,0003 x1E*12& 600
oXIU2P =l 7,000 x1624 x12& 1,344
oIl =l 170,000& 170
olfstd &H| X3S 300,000 x1H 300
OFxH=3 23,148
oJlzag 1,015,5603 x1Z «12& 12,187
ol|dg 15,906, 720 *1/12%60% 796
o ZAHGAH| 110,000 x1H «12& 1,320
S PN 60,0003 x 1+ 12& 720
cuwEE x| 140,000 x1H « 122 1,680
SEEE ST 15,906, 72021/ 12+ 120% 1,591
SR EESS
1,375,560& *1/226%150%*220 Al 2t 2,009
cUNRBEIISY
1,375,560 x1/226+8A| 2tx 15 731
o HEIS AHHI 50,0003 1+ 12& 600
oEXU2P Z 7,0003 16 +12& 1,344
= Il 24| 170,000& 170
OYMz=xt, XX HEEBx 25,487
=JlZ23 1,160,680& x1H «12& 13,929
oJ|YaY 17,648,160 »1/12%60% 883
oA GAH| 110,000 x1H « 122 1,320
o JtHIE = 60,0003 x1Z8+12& 720
SN 140,000 19+ 123 1,680
o JEHFOHY| 17,648, 1603 *1/12%120% 1,765
oAeRRLT
1,520,680& *1/226+150%*220 Al 2+ 2,221
cHXRERII=TY
1,520,680 *1/226%8A| 2kx 19 1,023
o HEIS AHHI 50,0003 x18+12& 600
ox=N2R =&l 7,000 x1424 x12& 1,176
oIl =l 170,000& 170
O=0HaszREZ 70,994,000 x4 .5% 3,195
OdudEE FE= 70,994,000 *2.82% 2,003
OnEEE 23 70,994,000 *1.4% 994
OMTHEE 23 70,794,000 *2.838% 2,010
OLEIRLEE REZ  2,003,000& *6.55% 132
O34 X =4l 1,000,000& 1,000
Of&Z 10,000, 000& 10,000
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